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------- B ittt Typ Jorg
Bauvorhaben: Soest,Alter Schiitzenhof
Typ: Stadthaus, 4,30m j;‘ - o I o
Wohnflache WE 1 [ S {\ i 2
Kellergeschoss » ' '
. (e e
Eltern 4,26 x 4,06 < 00597 ~ = 16,78 qm
Bad 2,49 x 2,00 - x 0,97 = 4,83 gqm
Abstell. 1,50 x 0,90 , x 0,97 = 1,31 gm
Flur 1 (1,11 x 1,00 + 1,00 x 1,57) " x 0,97 = 2,63 am
Flur II ‘,OD X 2,90 : X 0‘97 = 2,81 gm 28,36 qm_
Erdgeschoss _ : o
Wohnen (7,00 x 4,06 + 0,59 «x (2,96+3,26)x0,5+
4,75 x 1,92 + 0,41 X (1,96+0,75)x0,5-
1,10 x (1,85+1,35)x0,5 ) x 0,97 = 37,06 qm
WC (1,25, + 1,75) x 0,5 «x 1,00 x 0,97 = 1,46 qm
Kiiche 2,80° x 2,5 x 0,97 = 5,86 qm
-Sﬁ'.ludfuu\_.’ %,4} R 1!,44 § P 9,97 — ’.,97 qm q‘:,qcf'
‘-\ Terrasse (2,00 x 4,06 - 1,90 x 0,85 - 0,75 x'0,3§( 0,25 = 1.56 QM _4FgSt-am
‘ F62F qm
| ¥, %0
Nutzfldche WE 1
Kellergeschoss
vorrat 3,08 x g,gg ; = 2,74 qm
Keller 1,38 x & : = 3,19 gm
Garage 2,58 x 4,96 - 1,08 ; 1,08 | = 12,21 qn 18,14 qm
‘ Ll
?‘#:30
Wohnflache gesamt F6527F qm
Nutzfldache gesamt 18,14 QWI,

Negberg, den 04.01.1983




